1/0 do/dN,

Ratio to ATLAS

1077

1n8

[EEY

0.5

l IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII|

7000 GeV pp
=TT T T

Charged muItipIicity(NCh >2,p_>0.1GeV)

Sloft QCD

IIII|IIII|IIII_1_IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII|

Rivet 3.1.0, = 7M events

mcplots.cern.ch [arXiv:1306.3436]

m ATLAS
—a— Pythia 8.301 default
—a— Pythia 8.301 default-noFsr
—4— Pythia 8.301 default-noRap
.|.|.|.|.|.|.|.|.|.|.|.|:|.|.|.|.|.|.|.
: T T T T | T T T T | T T T T | T T T T
— 2
1
—0.5
.................................... l
50 100 150 200



	Contents
	Page 1


